X:(3000)ZHINLH 2 (3300)2EXASENLY & (3300) H AT & Mg (3301)E 2 22 NIHIBE: (120) 2 AL S EENCL R
i = P! ] 5
of &b o4 - @ At = | =
a2t g MlE L AAE =2 & N = 4 ¢
3000 [= 8,653,607 & 20,799,880 14,779,702 @  1,609,000]
2 RIp 2y 333,193,801 281,668,522  51,525,279| [D 0= 0 5,683,000 ]
3300 [= 8,653,607 & 20,799,880 14,779,702 @  1,609,000]
2ERARE L 333,193,801  281,668,522|  51,525,279| [ 0 = 0 5,683,000 ]
3320 [= 8,653,607 & 20,799,880 14,779,702 @  1,609,000]
HE R % 333,193,801 281,668,522  51,525,279| [ 0= 0 5,683,000 ]
3321 [2 2,330,744 & 9,205,000 8,577,702 2  2,791,000]
cawe 178,141,486 150,237,040  27,904,446| [ 0 = 0 5,000,000 ]
100
2 410 A 51,520 46,520 5,000
120
A A 2| 51,520 46,520 5,000
202
o1l 25,000 20,000 5,000
25,000 20,000 5,000(/01 2401
CERUN ZHRN BEE - 5,000
200 [2 2,330,744 & 9,200,000 XN 8,577,702 &  2,791,000]
AR Ol A 178,089,966 150,190,520 27,899,446/ [ 0 = 0 @ 5,000,000 ]
210 [2 2,330,744 & 0 X 0 @ 2,791,000]
2 X ALY 86,467,264 81,345,520 5,121,744 [l 0 = 0 m 0 ]
401
TS 58,012,520 55,221,520 2,791,000
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X:(3000) 2 MONLH 2 (3300)2ERNSEINLH| & (3320) ALK+ M8t (3321) 2 2] HIAIBt: (210) 8 E ALY EENEGR-E)
o = ¥ 3 3l
o & = &k = J| =
.2 g ME AN = &b A = & o
Chol
55,844,000 52,975,000 2,869,000/01 Al&Hl
oI INXNIXNYE STE 2,869,000
= 2,869,000
- SAHEI(7XI /42 .9km)
41,016,000,0002 - 38, 147,000,000 = 2,869,000
= 2,869,000
93,520 171,520 A78,000(03 Al L1
oINS XNYE STE = A78,000
= A78,000
403
XX SRS 28,454,744 26,124,000 2,330,744
X201 ™
28,454,744 26,124,000 2,330,744|01 XX SHH 22X
oEHE, SRUH=ER 2,330,744
= 2,330,744
SHEZZ HE, U=+ = 2,035,106
= 2,035,106
Z2C HE, sId=F = 295,638
= 295,638




XF:(3000) B MIONLHl 2 (3300)2EXNA S| & :(3320) AL X% Mgt (331) =222 KIAI8E: (220) Kb AF 2] [oe @]
nj; = J P! 2 5
Of &b of l @ o = p) x
I 2 S MIE. NIMIE =2 O]l &b oM = 3 o
220 [= 0 & 9,200,000 X 8,577,702 = 0]
XHHIAHS 91,622,702 68,845,000 22,777,702 [ 0 2 0 5,000,000 ]
207
o Rl ety 170,000 0 170,000
170,000 0 170,000(01 4|
OMENNISERIMNA HREN = 170,000
401
NE=LE =] 69, 157,702 51,380,000 17,777,702
CH
67,752,802 50,072,000 17,680,802 |01 Al&H]
CNECHHAIA FH| 695,600
MEHOISEZ WA 695,600
oXlYE OHE BRI AIY 6,600,000
Agte & - o
49,300,000,0002 - 42,700,000,000 6,600,000
CEFH AU QAT Z FAHH| 11,400,000
(XI) 8,400,000
() 3,000,000
oFY¥sla XTZ HEAY 176,402
(XI) 176,402
oXgS T2E T Xy




ZH:(3000) Z RN 2H:(3300) 2EXASENLH 5 (3320) A& X 2 Mgt (3321) =2 2 e HIHIEE: (220) X & ALY 28] [c9 ]
Of &b of l @ o = p) x
X o B NIE . HIAIE = of A M| o= H o
500,000,0002 - 300,000,000 200,000
1,300,000 1,200,000 100,000(02 22/H]
oXE OFMZIZ| ALY
1,300,000,0002 - 1,200,000,000& 100,000
104,900 108,000 A3,100(03 Al& 20|
CIMEQFEAIL HH A4,400
MEjolSEZ M A4,400
CBUSBUNATE WBAY 1,300
(X) 1,300
403
XSRS 14,445,000 8,415,000 6,030,000
=20l ®
14,445,000 8,415,000 6,030,000/01 XtXISHAIX=28 =
oXFHD BT AX 100,000,0002 x 50% 50,000
oLtAtICHE =pic g =& 500,000,0002 x 50% 250,000
CHF2U-AAE YR KA
100,000,0002 x 50% 50,000
cllM €2 sHEE2 & - IE
400,000,000 x 50% 200,000
cOZ2H SHECR & X




X:(3000) 2 MM H 2+ (3300) 2EXR S ENRLH| 5F:(3320) 24 X 4+ Mg : (3321) =222 HIHIEE: (220) X & ALY ERNELRED
i = J P! 2 5
Of &b of l @ o = p) x
X o B NIE . HIAIE = of A M| o= H o
200,000,0002 x 50% 100,000
CUMN SHEER & X
200,000,0002 x 50% 100,000
GEHAUS QAR M 2|
80,000,0002 x 50% 40,000
SEHAR OlAR AN
80,000,0002 x 50% 40,000
So042% €2 82X
700,000,0002 x 50% 350,000
Ob4m HE 800,000,0002 x 50% 400,000
SU SOHET2(2045) FUIAY 200,000
2HE 2EE-YD 2 & EX
200,000,0002 x 50% 100,000
oFo|H UEp T2 B HH
200,000,0002 x 50% = 100,000
CURN SHECR B EIX
200,000,0002 x 50% = 100,000
oRY T2 M| 200,000,0002 x 50% = 100,000
oBIMERER St TE 200,000,0002 x 50% 100,000
opZ12~EiM1el E2 = - ZE
200,000,0002 x 50% 100,000
SAEER JIAADIN €2 & - ZX
200,000,0002 x 50% 100,000
oltAHEl aiorElele s & - &




& :(3000) ZHIONZHl 2 (3300)=2EXNJA S =MLYl & (3320) A& Xl HI&:(3321) =222 HIAIE: (220) XA AL 28][ceF ]
i = P! ] 5
of &b o4 - @ At = | =
I BB NIE MIAIE = oo = F o
200,000,0002 x 50% = 100,000
oEMMDA MNATZ(DIS~5Y) A
1,000,000,0009! x 50% = 500,000
oA It 600,000,000 x 50% = 300,000
oEM TRHIAY 800,000,000 x 50% = 400,000
CHAZHAYTZ e = 2,000,000
(m) 2,000,000
o & Z A2 (POOL) = 250,000
701
JIEHSIH & 7,800,000 9,000,000| A1,200,000 cZAWEAL SEIH HE2
=
7,800,000,0002! - 9,000,000,000%! = 1,200,000
3322 [2 6,322,953 & 2,392,860 Xl 6,202,000 2 A1,182,000]
WEEIOVRE] 109,382,513 94,963,700,  14,418,813| [J 0 = 0 m 683,000 ]
100
Z A0l A 119,970 110,970 9,000
120
Z A 119,970 110,970 9,000
201
A2 Y| 54,170 50, 170 4,000
54,170 50, 170 4,00001 LBty
ot 2H 25 = 4,000




X:(3000)BHIONLH] 2+ (3300)2EXNALEINLY| 3H:(3320) AL X2 MIBH: (3322) x| &8t T 2 2] HIAIEE: (120) 2 AH X 2 ) EENECESED
! =2 7 X = 3
O]l At o A = o] =
I 2 S MIE. NIMIE =2 O]l &b oM = 3 o
202
o H 60,800 55,800 5,000
60,800 55,800 5,000/01 20
oXLY HURFE BEE = 5,000
200 [2 6,322,953 & 2,383,860 Xl 6,202,000 =& A1,182,000]
AFSS Ol AF 109,262,543 94,852,730 14,409,813 [2I 0 = 0 683,000 ]
210 [2 6,322,953 & 1,469,117 X 0 =2 A1,182,000]
HBXALY 93,406,070 86,113,000 7,293,070 [2I 0 2 0 683,000 ]
201
B2 Y| 4,000 0 4,000
4,000 0 4,000|01 LEr29H|
olISAALTAIE HA2Y SSHI (LT HLH = 4,000
(=) 4,000
202
o H 21,000 0 21,000
7,000 0 7,000/01 2LH0IH|
olISALTAIE Y L HAES (LA A = 7,000
(=) 7,000
14,000 0 14,000/03 =220 |




ZH:(3000) B MIOHREH]  24:(3300)=2EXNKAEZIHed|l &:(3320)HE X2 KISt: (3322) Xl =2t R 22| NIAISE: (210) B R AFS [2H][HA Y]
nj; = J P! 2 5
o oo o | < A = ol
X2 E ME HAME = of A o4 | = o

CNATAUD MAR P8R0 - 14.000
(= 14,000

308

TS S 1.526.790 0 1.52.790
oA
1.526.790 0 1.526.79001 HXICHHASED

SOISAAE TIAY (HRIH 0 &) - 25.000
(= 25.000
o728 HE 2 som=T 1,501,790
(= 1,330,700
(= 171,090
e = 1,501,790
(= 1,330,700
(= 171,090

401

A e 36,287,000 37,167,000 880,000
o vl
36.203.816]  37.083.816]  ~880.000/01 Al&H]

CARD ATAENE J=HE (AL R ) - 120,000
(= 120,000
CEBABA DHAAY REAQ —  A1.000,000




X$:(3000)ZRIONLHl  2:(3300)2EXSENLH| & (3320) HA X4 M8t (3322) X| 2= 8 TH 2 2 RIMIE: (210) B XA =] [oe M
nj; = J P! 2 5
Of &b of l @ o = p) x
Rt 2H. 8 MIE. MIMIE 2 O]l &b oM E
(2) A500,000
() A500,000
403
AXISH S 55,567,280 48,946,000 6,621,280
X0l &
55,567,280 48,946,000 6,621,280|01 XXM S =

oMHAEXNF FU(MHAZEH)
(21
14,363,000, 000&

osUHE NE&=T A (1300AIZ)

18,756,000,000& - 19,938,000,000&

o Aot EHIALY

6,087,673,000& - 6,504,000,000&

al

=

=7

ol

o728 EH3S S 21

0,471,000,000& + 1683,000,000& + &3,209,000,000& )

0
683,000
683,000
75,000
75,000
450,000
450,000

A 1,182,000
A 1,182,000

N416,327
A416,327
7,694,607
5,213,580




Z:(3000) 2 HMIOHHl  2+:(3300) = E &t JHErH| 8F:(3320) A A x| 4 KIgt: (3302) K| 2= & HIAIBt: (210) 8 R ALY SRR
! &% =2 ; E5 ol =
2 S NIE L AIAE =2 & W = 3 o
(= 2,481,027
= 817,465
(=2 628,819
(& 188,646
5 6,695,724
(=2 4,463,816
(= 2,231,908
SRR REBSAIL = 60,000
(=2 40,000
(& 20,000
PN = 121,418
(=2 80,945
(= 40,473
220 [ 914,743 X 6,202,000 Z# 0]
KERAF 15,856,473 8,739,730 7,116,743 =2 0 o 0 ]
308
XRSHS 224,743 210,000 14,743
0| &
224,743 210,000 14,743/01 RXSHBALSEZ
CELGHESAIYAIY (R0) 29,486,0002 x 50% = 14,743
403
XRSHS 10,004,000 2,902,000 7,102,000
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X:(3000)FMINLHl 2 (3300)2EXNASEIHLH| &t (3320) ES M8t (3322) x| &gt 22l HIAIE : (220) RERI A 2] [oe @]
i = J P! 2 5
Of &b of l @ o = p) x
I 2 S MIE. NIMIE =2 O]l A oH = 3 o
el ™
10,004,000 2,902,000 7,102,000|01 XFX|CSHA| K
oz=0l=2 A N2 (L=300m)
400,000,000 x 50% = 200,000
ot Z=HIA XA (3MAIZR) = 6,172,000
(XI) 6,172,000
ol EI} RaAIF XA = 30,000
(XI) 30,000
o Xt el HEA Hy|
500,000,000 - 400,000,000 = 100,000
o2F A BHAIEH|ALY 200,000,000 x 50% = 100,000
oY ASHA HHUIAY 100,000,000 x 50% = 50,000
oN&E LOZXER Z2AART QDA
400,000,000 x 50% = 200,000
oN&E AXT HifZZ2 EBHE
400,000,000 x 50% = 200,000
o222 AY| 100,000,000 x 50% = 50,000
3323
EEtHAAMY 3,198,798 3,186,798 12,000
100
A A 3,005,634 2,993,634 12,000
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ZH:(3000) Z RN 2H:(3300) 2EXASENLH 5 (3320) A& X 2 HI&t: (3323) 821 & AL HIHIEE: (120) 2 AR 24| ERNELRED
i = J P =] 5
Of &b of l @ o = p) x
X o B NIE . HIAIE = of A M| o= H o
120
AR A| 381,260 369, 260 12,000
202
01| 71,000 59,000 12,000
71,000 59,000 12,000/01 =2LH0iH|
OZEFAM AURREX BEZ = 12,000
3324
ZeALNARY 11,741,031 10,987,083 753,948
100
2 A0 A 5,281,381 5,263,383 17,998
110
01214 4,528,680 4,521,682 6,998
101
o124 H 4,528,680 4,521,682 6,998
6,998 0 6,998/ 10 LAIAI QI
oEMXA 6,998
XgtE RMEEY olsol
34,9902 x 10% x 20 = 6,998
120
AR A 752,701 741,701 11,000
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Z+:(3000) B MIOHEHl  2t:(3300)2EXAEEINLH| & (3320)AE X = NIg:(3324) S HERNARE  MAE:(120) 3 & 2] [ HH]
i = J P =] 5
o woo ) & = ) x
.2 g ME A =2 of &b o = &8 9
202
o4l 81,000 70,000 11,000
81,000 70,000 11,000|01 2 LHOIHI
oEF AL = 8,000
osd A = 3,000
200
AL Off &F 6,459,650 5,723,700 735,950
220
KM A 6,459,650 5,723,700 735,950
201
getEd] 69,615 0 69,615
69,615 0 69,615/01 Ler2AH|
o3 F AL 69,615
33223 & HA = 69,615
401
AMEHIZR 5,355,335 5,253,000 102,335
CHol
5,285,335 5,183,000 102,335|01 Al£Hl
oBZFAL 102,335
-HMIIEE |RAES 5,000,000& x 128 = 60,000
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Z+:(3000) B MIOHEHl  2t:(3300)2EXAEEINLH| & (3320)AE X = Mg (3324) S HERNARE  MIAE:(220) REA ALY (=3[ dE]

2t = Il 3 = 2
Of &b R A = Il =
.2 g A MAE =2 Ol &b M = 3 9
- E2RANEE HHIRFUH
123,835,000& - 100,000,000& = 23,835
- AEIH =2l
48,500,000& - 30,000,000& = 18,500
405
AHEES =8| 1,034,700 470,700 564,000
1,034,700 470,700 564,000|01 A& =S EFSHI
oEFAL 282,000
A RANES Xtz & U2 282,000
- 15& BZEH 86,000,000& x 2L = 172,000
- M&D 15,000,000& x 20H = 30,000
- 2y 40,000,000& x 204 = 80,000
osd A 282,000
A RANE I & FH 7Y 282,000
- 158 EZEH 86,000,000& x 2CH = 172,000
- M&7 15,000,000& x 2CH = 30,000
- 2eia Rz 40,000,000& x 208 = 80,000
3325
LD k= ) R 30,729,973 22,293,901 8,436,072
100
a0l & 2,417,967 2,398,895 19,072
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ZH:(3000) Z RN 2H:(3300) 2EXASENLH 5 (3320) A& X 2 HIH: (3325) MBI NS MIAMIE:(110)0121H| 2H][o9: e
ni; = p) P =] 5
Of &b of l @ o = p) x
X2 st ME L HIAIE = of & | = A" o
110
o124 1,509,914 1,503,842 6,072
101
o124 H| 1,509,914 1,503,842 6,072
51,735 45,663 6,072/10 LAIAIS QI Q!
OB ER HMEZe ol
30,3609 x 20& x 10 = 6,072
120
AR AY| 908,053 895,053 13,000
202
o1 H 65,400 52,400 13,000
65,400 52,400 13,000(01 =2LH0IH|
CHHSSANL ARZX BEE = 13,000
200
AHSOfl AF 28,312,006 19,895,006 8,417,000
210
BEAY 27,460,000 19,460,000 8,000,000
401
Aay e 27,460,000 19,460,000 8,000,000
ol
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Z+:(3000) B MIOHEHl  2t:(3300)2EXAEEINLH| & (3320)AE X = AISt:(3325) M Kl 2320 NIAIE: (210) E R A Y [E2E][ER: ]
2t = Il 3 = 2
Of &b R A = Il =
.2 g A MAE =2 Ol &b M = 3 9
27,414,240 19,414,240 8,000,000(01 Al&HI
oBTHAANTHE A ZAAS 24| = 8,000,000
220
KEMIAHE 852,006 435,006 417,000
201
2t 106,000 68,000 38,000
58,000 20,000 38,000/01 =]
oot=3ZHMIIAE e 22| = 38,000
307
gIetol M 0 20,000 20,000
0 20,000 A20,000/02 SI2tF &2 X
SHMIHAA HEH JI&H = A 20,000
401
AMEHIZR 657,456 258,456 399,000
CHdl
654,000 255,000 399,000|01 Al<Hl
SMHMAAME A SEAtH 2t Ol Jl= XA £ AHHI
= 329,000
oFstat EotAlE 25 = 60,000
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ZH:(3000) B HIHEHI  2t:(3300)2EXREEHNEH & :(3320)HEX = ISt (3325) B Xl 2 3t 20 &
2 = pJ ¥ | 2 8
of & o A 2 ol =
T2 ONIE KA = of &b ol E A o
o252 Y2 A = 10,000
== | 333,193,801  281,668,522| 51,525,279
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